Consicer the foliowing statements:

Staterent | Democratic politics in India is
heading towards a split between public
institutions, dominated by the entrenched
upper midd'e classes, and political
institutions being taken over by

representatives of the lower casles.

Statement II: Even after liberalization, the
importance of the state as the chief regulator,
facilitator, arbiter and even of resources has
by no means diminished.

In the light of the above statements, choose
the most appropriate answers from the

options given below:

(A)  Both Statement | and Statement I!
are correct.

{BY” Both Statement ! and Statement |!

ara incorrect.

(C)  Statement |is correct and Statement

I is incorrect.

(@) Statement ! is incorrect and
Statement Il is correct.

Total Number of Pages : 32

Which among the following is not the

alement of good governance?

(A) Rule of Law

(B) Corruption

(C) Accountability

(D)  Transparency

From which of the following state of India,
the right to information movement culminated
into a People’'s Campaign for Right to
Information spread over different parts of the
country?

(A)  West Bengal

(B) Maharashtra

(C)  Rajasthan

D) Goa
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In the two lists given below, List-| provides
the names of social movements, while
List-Il indicates the name of states where
these were located, Match the two lists and
choose the correct answer from the code
given below

List-l
(Name of the social movements)
P. Silent Valley
Q Dalit Panthers
R. Navinriman Andolan
S. Chipko Andolan
List-ll
(Name of states)
(i) Maharashtra

(i) Uttarakhand

(iii) Kerala
(v)  Gujarat
Codes:
P
| X 3
(A) (i) II) (i) (w)

(W/J/ (IIJ

(C) @ i)y 0
0) ) R (I )
Paper-11

Total Number of Pages : 32

Who among the following is not a proponent

of Elites Theory in Politics?

A V. Pareto
B) G. Mosca
(€) R. Michel
o M Kaplan

Match List- and List-II and select the correct

answer from the codes given below:

List-l
(Authors)
K.J. Holsti
G. Kennan
|. Kant
G.J. lkenberry
List-Il
(Books)

®w VW O T

1. After Victory: Institutions, Strategic
Restraint and the Rebuilding of
order after Major Wars.

0 Realities of American Foreign
Policy

3. Peace and War: Armed Conflicts
and Intemational Order

4. Perpetual Peace

Codes:

RO

VR By

2
R N o
o 3 2 4 /
(D) 1 3 A ;
e
31-B
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7.

When the first Nuclear Doctrin@ of India was

officially released?

(A)  November 2002
()  December 2002
(©)  January 2003
(0)  February 2004

Which of the following pair Is incorrectly
malched?

(A) Nelghbours First Policy: I. K. Gujral

(8)  Look East Policy: P. V. Narasimha
Rao

(€ Nuclear Doctrine: A. B. Vajpayee

(D) Genuine Nonalignment: Rajiv
Gandhi

In the two lists given below, List-1 provides

the names of external military operations by
India , while List-ll indicates the year in which
they were held. Match the (wo lists and
choose the correct answer from the code
given below :

List-l
(Name of Military Operation)
K Operation Talwar
Operation Shakti

Operation Meghdoot

» = O

Operation Khukri

10,

Total Number of Pages : 32

List-l
(Year of operation)
M 1984
@) 1998
(W 1999
(v 2000
Codes:

P R=%8

" (i) u;) R
(B) @iy @ (v (i)
(C) (1) M (v (i)
) (1) Y (1) I () B ()

Which of the following was not an important
outcome of Russian President Boris Yelstin's
visit to India in January, 1993?

(A)  Assurance to provide military spare
parts to India

(B)  Issue of Rupee-Rouble Exchange
rate was resolved

(C)  Russia agreed to put pressure on
Pakistan to withdraw from POK

D) Dﬁlivery of crvoganh. rocket

engines was promised
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1. Which Constitution Amendment Act restricted
the size of the Council of Ministers to 15 per
cent of the total members of the Lok Sabha?

(A)

(B)

€

©)

89th Constitutional Amendment Act,
2001

90th Constitutional Amendment Act,
2002

91st Constitutional Amendment Act,
2003

92nd Constitutional Amendment Act,
2004

12.  Consider the following statements:

l.

.

Under Article 249, the Parliamentcan -

legislate on a matter in State List in
national interest

Under Article 252, the Parliament

can legislate for two or more states
with their consent

Article 253 provides that if there is
aconflict between a central and state

law on any subject in the Concurrent
list, the former shall prevail

13.

Paper-I1
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Total Number of Pages : 32
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List if a proclamation of Emergency
is in operation.

Choose the correct statements from the

options given below:

(A)

)

©

o

(1) (), (1)

(It and (IV)

), (I1) and (IV)

(1), (1) and (IV)

Members of the Public Accounts Committee
are elected by Members of the Parfiament:

(A)

)

Every year on the basis of
proportional representation

Every two years on the basis of
maximum votes secured

Every five years on the basis of list
system

Every five years op the basis of
proportional representation

31-B
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14.  On whose recommen

Institute of Public Administration was
founded?

(A)  Paul H. Appleby

(8)  Luther and Gulick

(©)  AmreshwarAwasthi

(D)  Krishna Menon 17.

GET IT ON

Google Play

Total Number of Pages : 32

Who coined the term sub-altem realism?

(A)

(8)

©

©)

Robert Cox

Mohammed Ayub

Kenneth Waltz

Mearshiemer

For Panchayali Raj Institutions to function
successfully, three things are essential.
Identify the correct group of things from

15.  The U.S. policy to provide military and below:
_economic aid to countries threatened by
Communism was:
(A) Adequate power, resources and
size
(A) Monroe Doctrine
(8) Adequate resources, functionaries
(8) Truman Doclrine and distance
(©) Brezhnev Doctrine € Adequate power, -resources and
accountability mechanisms
) Marshall Plan
. (0)  Adequate size, distance and
functionaries
—_——————
i 7 31-B
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Given below are two statements:

Statement |; Globalization provided the
stimulus and the site for changing state-
business relations in India.

Statement 1I: Globalization made foreign
capital and Indian capital in foreign markets
more central to Indian policy formulation
process.

In the light of the above statements, choose
the most appropriate answers from the
options given below:

(A) Both Statement | and Statement ||
are correct.

(B) Both Statement | and Statement ||
are incorrect.

(C) Statement | is correct and Statement
Il L'-*._ incorrect,

(D) Statement | is incorrect and
Statement Il is correct.

20.

21.

19.  Worldview is an idea developed in the
philosophy of:
(A) Immanuel Kant
(B)  J.S. Mil

Paper-11

GET IT ON

Google Play |

Total Number of Pages 332
) Kar Marx
(D) Max Weber

According to Marx, which types of class
society have shaped human history?

(A)  Slavery, Feudalism and Capitalism

(B) Socialism, Feudalism and

Capitalism

(C) Political Power, Imperialism and

Capitaﬁsm-

(D) Imperialism, Feudalism and
Capitalism

Among the state based political parties,

which of the following pair is incorrectly
matched ?

(A)  Kerala: KCF
B)  Sikkim: RLP
C)  Uttar Pradesh: RLD

O Meghalaya: Npp

3 N

31-B

I

-

Paper


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda
¥ T Google Play

Total Number of Pages : 32

=3 32 @
Eg - The main goal of New Publi
22 Consider the following statements the 2. : g ic Management
i 0:
context of India-Pakistan Relaton® and = "
identify the onefs which project he relations (A) Enhance  efficiency  and
BRI o e siates effectiveness in the delivery of
public services
f class e W ‘ .
? I Strong states show @ marked (B)  Maintain a. rigid and hierarchical
preference for bilateral engagement pureaucratic structure
o while weak stales favour a ©) Increase government control and
multilateral framework. regulation
(D)  Promotes a Police state model
nd
y a I, A Strong states try t0 keep the weak o Considerthe following statements regarding
states at a distance While ook important outcomes of BRICS Summit
states desire enhanced political Meeting 2019 for ingia
Lt I 5 |
sm and and economic ties with strong : i dnbiied o
reg regional office of the New.~"
: k in Indi
e I~ Strong states try to bolster its Development Bank in India
strength by obtaining support from I. The Summit decided to develop
other states while the weak states BRICS as an anti-West nrganizaﬁunﬂ"
try to exert their power Over the Iil. India seeks reforms in global
axh strong states. governance through BRICS
orrectly IV. At India's instance terrorism was /

Choose the correct answer from the options one of the main priority areas of the
given below: Summit
Which of the above statements are correct?
(A)  Only() Select the correct answer from the options
g given below:
®  ()and(ll) (&) ()and (I

(B)  (Iand (Il
€)  (hand(IV)

N ” Only (1) _®  ()and(IV)

©  (hand(il)

——
31-B
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% e WO lists given below, List-| provides 2;3@
B Wno among the following is regarded as a  27. In i States, while List-Il indicates I |
covert Hobbist? 1:9 o of their Legislative Councils,
the
lists and choose the co .
(A)  J.J. Rousseau ' Match the WO . : T |
answer from the code given below : -
(8)  John Locke List .
.
(C)  Jeremy Bentham (Name of the States) i
(©)  Herbert p. Andnra Pradesh
26.  An Indian voter may be disqualified on the Q  Bhar }
grounds of: v Maharashira
, Non-residence g,  Telangana
List-ll !
II. Crime ey, ;
(Strength of Legislative Council) ' J
In. Corrupt or illegal practice (i) 75
(ii) 40
IV. Unsoundness of mind 2
(i) 58 '
Choose the correct answer from the options vy 78
given below: Codes:
(A)  Only(l)and (Il , Py - S
s O @ @ ™
(B) Only (1) and (1ll)
) @ 6 @ O
dcf 0 € (i) : -
nly (1) and (1H) (v) i) ()
i
(0)  Only(l), (i) and () ©) (i) iy 0 ;
Paper-Il 10 —ma_‘_:':_‘—_::;::'-?‘?ﬂ——_____—___——-"-" Pape
31-B
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28.  Which of the following are ©°"

oot about the

Total Number of Pages : 32

Choose the correct answer from the options

iotrali ' below:
; > qistration? given
Systems theory in Public A" e (A () (iand (V)
wit e
L It deals integrat®" ® ()0, (1 and (V)
nan L
organisationa! phenome ey (), (i) and (IV)
L I eveloped largely since (1€ o (. (nad(v
1940s P 30. The manuscript of Kautilya's Arthashastra was
il It is a synthesis of earlier first discovered and studied by :
approaches wihout any new focus (A) K.A. Neelkantha Sastri
R (B) R. Shamashastry
V. It views an organisatiof) i - (C) J. Buhler
ecological porzpeey (D) Sir William Jones
Choose the correct answer from the options 31 Consider the following statements:
given below: Statement | The hallmark of leadership is
(A) (1), (nand(IV) the capacity o influence others to follow.
; : ip goes beyond
B (hand(V) Statement |I: Leadership g y
routine and taps bases of power beyond
|
. (e those that are organisationally decreed. *
()  (Wand(V) In the light of the above statements, choose
29. Which of the following statemeénts about the most appropriate answers from the
Scientific Management Theory are incorre@ options given below:
behavioural sense” are correct.
_ (B) Both Statement | and Statement I
Il It is the first coherent theory of 8 ot
rrect.
organisation <
ll. It stresses integration and (C)  Statement |is correctand Statement
coordination at higher levels of Il is incarrect,
organisation o
. D Statem is incorrect and
IV. . Itinterprets the organisational s ent. | lo ineti
officlency | = Statement || is correct.
iclency in mechanistic as wel| as
humanistic terms
— _'_:'EL—_:—._—__ e
11 31-B
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32 Consider the following statements about
MGNREGA:
I The demand for an Employment
Guarantee Act started in Rajasthan .
as an extension of famine relief
programmes in 2001 and 2003.
. The Employment Guarantee Act 34,
became one of the main planks of
the National Common Minimum
Programme of the UPA government
in 2004.
M. The NREGA was passed in the Lok
Sabha on 23 August, 2006.
1V, The NREGA was passed 35
unanimously.
Which of the above statements aCtme
Choose the correct answer from the options
given below:
<A ()and 1) only
(B) () and (lil) onlyer
(C) (1), (1) and (IV) onlyss
(©) (), (1), () and (Ivee
33.  Which one of the following is not correct
regarding laws made towards protecting 36,
rights of women in India?
(A) Immorat Traffic (Prevention) Act,
s
(B)  Protection of Women from Domestic
Violence Act, 2005 B
Paper-I1 12

Total Number of Pages : 32

Traffic in Women and Children Act,
1066 >

The Sexual Harassment of Women
at Work place ( Prevention,
Prohlbltlon and Redressal ) Act,
2013

Who among the following is not a ex-officio

member of the NITI Aayog?
(A) Minister of Home Affairs

©

(8)  Minister of Defence

{C}I Minister of External Affairs

(D)  Minister of Agriculture and Farmer's
Welfare

The UN Vienna Declaration 1993 declared

that:

(A)  ..Third Generation Rights are of

Pl

“ primary importance. _

(B) 2 Civil and political rights are core
rights.

@j Jil types of rights are indivisible,
interrelated and interdependent.

(©)  Social and economic rights are non-

enforceable,

Who iss the feminist critique of Morgenthau?
(A)  MP. Follet

B)  Ann Tickner

Rohanda Zahama

Cyntheg Enloe

__\E—__-_—__:_H_“““——\T——H—-______———

e —
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. : Elﬁ : 38 In the two lists given bel ist- i
. ts: . given below, List-| provides
' 37. Gl fwo stateme”
4 e eiow are i the names of Acts passed before
N | ime 5eC
] Statement |: India's veW of marntime S t: Indenendence, while. List-l indicates their
' . s an : o -
e has been &ﬁ’\ren by the influenc Rl basic provisions. Match the two lists and
. # I
A strategic thought processes b choose the comrect answer from the code
_ period and the cold Wa" given below :
. Statement Il: The post cold W perot A8 List4
ingress of China and the presen! disposition (Name of the Acts)

of the US in the Indian Ocean Region have

g in the Indian

Indian Councils Act, 1909
B o n 2 80 Government of India Act, 1919

=

; Q

3 perspective. -~ R Government of India Act, 1935
s

Indian Independence Act, 1947
In the light of the above statements, choose

List-ll
the most appropriate answers from the

(Basic Provisions)

(i) Introduction of bicameral legislature

options given below:

' (ii) List system for distribution of
. - (A) Both Statement | and Statement Il I

(i)  End of governmental majority in
are correct.

provincial legislative councils

(v)  End of the position of the Secretary

_ ' (B)  Both Statement | and Statement I of State for India
are incorrect. Codes:
) P Q R &8
(C)  Statement liscomectand Statement (A) (iif) @ o )
Il s incorrect.

(B) @ 60 ™ @
) Statement I is incorrect and © @ o ™ M

Statement || § :
g ol g M @ oW

13
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guﬁ Codes:

9. inthe two lists given below, List-1 provides
the names of social scientists, while List-I
indicates their main idea about the casie
system. Match the two lists and choose (he g (iv)
correct answer from the code given below :

@ ) @

@ O M (@)=

(B)
List-I ‘
C (i) (v) () (i)
Name of the social scientist) . :
: o oW @0 0
£ Raijni Kothari 40,  Whose political ideas according to G.H.

Sabine were regarded as narrowly local and

Q G. S. Ghurye
a narrowly dated?

[ S, Lovis Dumont ()  Machiavell
3 )
S. M. N. Srinivas (B) lato
List-ll (C) Spencer
{Main |dEa:| E31' Karl Marx
41.  Who coined ‘Bri AN B
(i) Hierarchy of pure and impure Yho coined the term Print Capitalism’ ?
(A)  William
(i) Sanskritization Anderson
(B)  Benedict A
( Anders
(iif) Six features of the Hindu Caste &
system € Adil Khan
(iv) Democratization of the castes © Craig Calhon
P&pﬂl‘-” 14 _h_“_'_:'-_-—_-_:_:;_?::::_:;—-_—_-_—_______________
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42, Who said that "identi "
and interest determines &¥"

erest (€) David Osborne and Ted Gaebler

- t
rmines in

(0)  Christopher Hood

(&)  Joseph Nye

45.  Consider the following statements:
(B)  Alexander Wend!
Statement |: The Classical theory neglected
the role of human element in the
organization.

(C)  Robert Keohane

{0)  Robert Cox

Y 43. By the Geneva Agreement 1954, Vietnam Statement Il: The Human Relations theory
ot was temporarily divided into tWo states at totally rejected the Classical theory aln':iwL
tT the: accepted the concept of the economic man.
3
i BRI Y0l Porshel Inthe light of the above statements, choose
f: the most appropriate answers from the
: = r options given below:
%
* _{ey  17th Paralel
g (A)  Both Statement | and Statement Il
] (0)  31stParalel are correct,
public management, ' Reinventing are incorrect.

Govemment': How the Entrepreneurial Spirit
is transforming the Public Sector” was written

by : (C) - Statement lis correct and Statement

Il is incorrect.

(A) Gerlad Caiden
(0) Statement | is incorrect and

(B) C. Pollitt Statement |l is comect.

15 31-B
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6. The Constituent Assembly for undided India

of how many members?
292 members from the British

provinces, 4 from Chief

Commissionaires and 93 from
Princely States
(8) 294 members from the British
Chief
Commissionaires and 91 from
Princely States
© 291 members from the British
from Chief
Commissionaires and 95 from
Princely States
©) 292 members from the British
Chief
Commissionaires and 92 from
Princely States
47, Which of the following constitutes the basic
structure of the Constitution of India?
L Democratic Structure
I Fundamental Rights of the citizens
. Socialistic pattemn of society
V. Independence of Judiciary
V. Universal adult franchise
Select the comect answer from the options
given below:
(A) (. (), (), (v)
(B) (). (1), (v}, (V)
(© (.00, (V)
(V). (IV), (), (1)

from

provinces, 4

provinces, 3

_provinces, 5 from

. 8

GET IT ON

Google Play
Total Number Ot rages: 32

in the two lists given below, List- provides
the names of Directive Principles of State
Policy, while List1 indicates their conceming
articles in the Constitution. Match the two lists
and choose the correct answer from the

code given below.
List-l
(Name of the Directive Principles)
P. Formation of Gram Panchayats
Q. Uniform Civil Code
R Agriculture and animal husbandry

S. Separation of Judiciary from the

executive

List-ll

(Articles)
(i) Article 50
(i)  Aicle 48
()  Article 40
(V)  Article 44
Codes:

P Q B 0§

(&) W @ (v
(8) (i) ) (v) (i)
() <—{ffi) ) I Y 2
o) W ® @

jl-B
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J E!;'EE]
provides Elﬁ josophers 51,
of State 49.  Who among the followind F:-gcosoph‘f'
nceming propounded the concepl OIO ;
» two lists which is based on deep €%
rom the (A)  Ame Naess

(B)  Jonathan Pomit

(©) Murray Bookchin

about
50.  Which of the following statemen’s
Postmodernism is/are comect?

. Postmodernism criticize
as the sole guiding forceé of human

beings.

s 'reason’

IL. Postmodernism celebrates
superiority of a Universal political
culture based on Euro-American
experienca.‘?‘f

M. Philosophy of Postmodernism runs
counter to arguments of

Enlightenment. “~
V. Postmodernism believes that
: science and tf.@rc:'nnnlog,_‘yr will lead to
disaster. &

Choose the correct answer from the code

given below:

(A)  Only(l)
B  (and(l)
(€ ().(yand(In)

©7 0.0 and (v)

_-___‘____‘_‘———-—_______'_‘—:—*——-—._________

(C)  Ted Trainer 5

Total Number of Pages : 32

Who among the following is the author of
‘The Arctic Home in the Vedas'?

(A)  Sri Aurobindo

(B) M.N. Roy

(C)  B.G. Tilak

0)  V.D.Savarkar

In the two lists given below, List-l provides
the name of the thinker, while List-ll indicates
their political ideas. Match the two lists and
choose the correct answer from the code

given below :
List-|
(Name of Thinker)
-P J.S.Mill
Q Thomas Hobbee\
R Machiavelli )
S, KalMax |
List-ll
(Political Ideas)

()  Social Contrct
(i) Statecraft of Cesare Borgia
(ii)  Class conflict
(v)  Female suffrage and worker's
cooperatives
Codes:
P Q4 ~RESES
(A) (i) i) (@) (v
) @ v @@ @

"
o @ o0 W

J—

Paper-II 7
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among the following, which modern Indian

I-Iu ions Th edas 56 - :
man Relations Theory emerg | thinker said, “Religion rests in one’s

. a response to the perceived limitations of s e ;
tori heart and not in the stomach” 7
(A)  Scientific Management Theory .-
(B)  Development Administrative Theory ¢ w BR ATt
(C)  Contingency Theorye/ (B) swami Vivekanand
(D)  Total Quality Management .,/ (C)  Mahatma Gandhi
54, Who said that the “notion of sovereignty © VD Savarkar -
should bﬁ surrendered”? 57. In the two lists given below, List-I provides
(B} Laski a book written by them. Match the two lists
(C)  Krabbe and choose the correct answer from the
(O)  M.PFolett cods gven e
55.  Which of the following statement/s about Listd
- M.N. Roy is/are correct? 3
(Thinker)
l M. N. Roy was a bitter critic of P Swami Vivekananda
Swami Vivekananda, * Q 81l Arobindd
Il. M.N. Roy accepted the Marxis! idea R B.R. Ambedkar
~ of class struggle. o/ S.  Ram Manohar Lohia
I MN. Roy abandoned Marxism in List-l
favour of 'radical humanism's” (Book)
V. MN. Roy accepted the materialist () The Life Divine
interpretation of history” (i) The Eastand West
Choose the correct answer from the options (!"] il
given below: () Annihilation of Caste
Codes:
A (fand (uf
P Q
B (Dand(in) (A) . A ?
(i) i) @ (v
©  (and (v~ (B) W) i)
©  (Mand(v)4 ) A M i
D ; 5
O ™ ® @ @
_-_-_--'_—--
Paper-I N
il-B
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| provides
lindicates
e two lists
from the

aches of
Which of the following 8°P"

. that a good
Comparative Politics believé t- o5 when
manager is one whom nobod s

s/he leaves the u:mra;ﬁl"‘if-a’*f""'Fr

(A)  Behaviouralism
_AB)  Functionalism
(C) Institutionalism
(D) Nao-behaiiuuralism
59‘ Gh'en habw are two statements:
 Statement |: A quardian miltary regime s an
authoritarian military dominated political
« system in which ulimate political authority
rests with the armed forces, but the day 10
day operation is in the hands of a civilian
government.
Statement II: In a guardmﬁr’nduary regime,
the military rules s weﬂ as’ it governs.
In the light of the above siatoments, choose
the most appropriate answers from the
options given below:
(A)  Both Statement | and Statement I|
are correct.

(B)  Both Statement | and Statement ||
are incorrect.

(C)  Statementis correct and Stalement
II'is incorrect

(D) Statement | is incorrect ang
Statement || is correct,

60.

61,
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Which of the following thinker has described

patrimonialism as ‘Sultanism'?

(A)  Samuel Huntington

(8)  Robert Putnam

(C)  George Soros

(D)  Max Weber

Which of the following statement/s about the

Green Movement is/are correct?

. The Green Movement appeared as
a response to the adverse impad/
of globalization on environment.

Il The Green Movement succeeded
in mobilizing masses in largel¢”
numbers in support of its causes
and programmes.

Ii. The Green Movement failed to
provide an alternative leadership for ‘)r
the entire society across full range
of governance.

Iv. The Green Movement now has
neither a credible alternative world
view nor a sufficiently loyal

constituency to pose any threat to
globalization.
Select the correct answer from the options
given below:
(A)  Only(l)
(B)  ()and(ll) %

(C)  (iand(lv)

By (1), () and (1v)

%
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63.

Which of the following treaties is paired
incorrectly?

(A)  PTBT: 1962
(8) NPT 1968
(C)  INF:1989
(D)  START: 1991

Pacta Sunt Servanda is related to which of
the following ?

(A) Regarding treaties as sacred
obligations of states

(B)  Regarding war as immoral
(C) Regarding UNO as sacrosanct

(D) Regarding disarmament as moral
duty of states

Consider the following statements:

Statement I:  In the foreign policy of India,
a major positive aspect of the policy of non-
alignment was to promote independence
of colonized countries from the clutches of
the colonial powers.

Statement Il: In the foreign policy of India, a
major negative aspect of the policy of non-
alignment was to build the non-aligned states
as ‘a third power’ in global politics to balance
power asymmetry

65.

Paper-II
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in the light of the above statements, choosg

the most appropriate answers from the

options given below:

(A)  Both Statement | and Statement ||

are correct.

(8)  Both Statement | and Statement Il

are incorrect.

(C)  Statement |is correct and Statement

Il is incorrect.

©) Statement | is incorrect and
Statement Il is correct.

Political tradition is an important determinant
of a nation’s foreign policy. Of the four roots
of the foreign policy of India as pointed out
by Palmer and Perkins, which has been
Incorrectly listed bejoy:

(A Indian Civilization

Freedom Movernent of India

(C) Gandhian philosophy

Nehru's ideas about international
politics

31-B
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66.  Which political philosopher observed, “The (©  (a)istrue, but (1) s faise

English people believe itself o be free blft O (a)is faise, but () is true
itis gravely mistaken, is it only free when it
elects its members of Pariiament.” 7 68.  Which of the following statement/s regarci

Aristolle’s views on Slavery is/are comect ?

A in ‘Social Contract "
(&) Rousseay in ‘Social Con L Slavery is a natural institution,

(B)  J.S. Mill in ‘On Liberty I Slaves are essential for the masters.—

(€ Karl Manx in ‘Communist Manifesto I, Slaves can become masters by
receiving education ~/

(O} John Locke in ‘Two Treatises of
R Choose the correct answer from the code

Government'
sment given below:
67.  Given below are two statements, one A Only (1)

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements (B) (1) and ('”/
and ' i

am:f choose the correct answer using the © () and (1)

code given below :

(D) () and (I1l)
Assertion (a): Plato said that an ideal state

; I :
must be based on justice. 9. Intergovemmental Panel on Climate Change

was established by:;

Reason (r): Justice in sociely can be (A)
achieved by determining the proper status
and functions of various social classes.

UNDP and World Meteorological
Organization (WMOQ)

(B) UNEP and World Meteorological
/l’ﬂ}/ Both (a) and (1) are true and (r) is Organization (WMo) &

correct explanation of (a
) (C) FAO angd World Meteorological

(B)  Both (a) and (r) are true ang (r)is Organization (WMO)
not correct explanation of (a) D) UNESCO and Worid Meteoro I
SN Organization (W)
e ——— o
__4_'_'—"‘-—-—-__________
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Gandhi supported communism,

70 Who saig * impoverished -8 ;
said, "When people are impoverished, ambedkar opposed it.

they become greedy, when they are greedy,

they become disaffected, when disaffected — revoured Nansvicken

they voluntarily go to the side of enemy and (C)
destroy their own master” ? protest, Amb?c_fkar was a
constitutionalist.
(A) Kabir
@)  Gandhi wanted Congress to work

(B) Kautilya for the dalits, Ambedkar wanted a

(C)  Bal Gangadhar Tilak S P
D) B.R. Ambedkar 73. Arrange the books written by Jawaharlal

Nehru in the correct chronological order:
7. According to Ram Manohar Lohia, Marxism .

was full of internal contradictions. Which of l Glimpses of World History

such contradictions is listed wrongly here? |

I. The Unity of India
(A) Thought of one person cannot result

in a powerful movement . il The Discovery of India :
.
B Laws of hij
(B) | Istory cannot be IV.  Whither India
determined

©  Marist ideology Is only Euro- Choose the correct answer from the options

s given below:
D) Class struggle has no role in history ® (. (), 1) (V)
72, Among the various Gandhi-Ambedkar ® ), (0, (IV), (my
debates, which one of the following is
incorrect? © ), my, vy
(A} Gandhi was a rural champion, (D) (V). 1), (1, oy

Ambedkar admired cities. =~

Paper-II 22 m
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i
mmunism, ; _ o ln "-,mmﬂtlﬂﬂﬂl 76, In the two lists given below, List-l provides
92 ,. 74, The Fourth Great Debél;] 1o M0N0 the the International Relations theory debate,
& Relations was advocatod bf whilo List.If indicates their basic featur
on-violent 5 olowny 7 Match the two lists and choose the correct
was g 4 , answer from the code given below :
B :
! nihaw
: | (A)  Hans J. Morge List-]
5
to 5 Theory Debate
2N * ' (B)  Francis Fukuyama ey )
vaned A —P. Traditionalists vs. Modemists
the dalits !
; (€©)  Henry Kissinger Q. Rationalist vs, Raﬂac’livispz
waharlal t R Realists vs. |dealists
order: & 1
- it O, Keohane
. {5 Fobe S. Inter-paradigm debate
875 Which of the two events forced List-l
. 4 reassessment of the core lenets of Realism? , (Basic Feature) f
B /(D/ Role of international institutions
i (A)_~ Indo-Pak War of 1965 and the Cuban '
f % i Nature of methodolog
J 51 Missile Crisis W Y
(i)~ Understand intenational processes
tions - (B)  The Congo Crisis and the Indo-Pak A" Content of the discipline and how
{ War of 1965 to study
i -
Codes:
:E (C)  The Vietnam Conflct ang the Il P Q R S
8 Crisis X 1
A W w g
] : . ®) @ 0w m
b T " LT
: (0) C:ef()ll Crisis and the Bay of Pigs (©) . i (v W
¥ Nirontation
¥ - A w0
_ = _
i Paper-1I e ——
i 23 31-B
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7. Which one of the following pairs is
incorrectly matched?
(A) David Easton: &’L’l,lhoritative
allocation of values
.(B) Dante Germino: Marxism:f}n
ideclogy not political theory
(C) Mary Wollstonecraft: Abolish the
private sphere d
(D) John Stuart Mill: Political powér as
a tool of economic powe
78. Regarding the concept of Justice, which one
of the following pair is matched incorrectly?
(Y Plato: Justice is the interest of the
stronger * y
(8) Jeremy Bentham: Graateﬂ,
happiness of the greatest number
(C) John Rawls: Equality of basic rights
and duties ./
(D) Simonides: Giving everyone their
due's ¥
79.  Which political theorist suggested “Justice
as Mutual Advantage® ?
(A)  Robert Nozick
e
paper-1I
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(B) John Rawls
Ly David Gauthier
(D) Ronald Dworkin

Given below are two statements:

Statement I: The second wave of Feminism,
starting with the 1960s, did not just want
political freedom but demanded a
revolutionary change in society.

Statement II: The extremism of the second
wave was further accentuated in the third
wave of Feminism and it wanted a violent

change in the society.
In the light of the above statements, choose
the most appropriate answers from the

options given below:;

(A)  Both Statement | and Statement I

are correct,

(B) Both Statement | and Statement Il
are incorrect,

(C) Statement | js comrect and Stateméﬂt
Il is incorrect.

(D) Statement | is incorrect and

Statement || IS correct,

—

ﬁ\i_?_—_i\—
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8
ik sregarding 82 Which of the following stat
81.  Whichofthe following statements 9 AT kbl

John Rawls's theory on Justice is/are Zedong's political thought is incorrect?

comect ? -
(A)  Mao Zedong accorded priority to
. Rawls shifted the central concern of practice over pure theory..~~
; tions of
political philosophy 1o QUESIOTS ¢
fair distripution and social ()  Mao Zedong obseuivad that the law _
¢ of contradiction will not stop even :
cooperation. : . \gL
oy after establishment of communism.

i : tilitarianism and
i Rawis considered util () Mao Zedong viewed that the

intuitionism as the instruments for a vanguard of the proletariat willhave _,
just society. no role after establishment of

lil. Rawls used the social contract -l
theory to explain his concept of (D) Mao Zedong believed that
justice. revolution does not imply mere «—

transformation of the economic

IV, Raw!s considers truth as the first

virtue of social institutions.*

system.

83.  The first systematic Indian political theory

GWB. the correct answer from the option dealing with centralized government in India
code given below: can be found in:
(A)  (and (VI (A)  The Vedas

@  (hand (J!l)"( B w@
ﬁ/ (1) and (1) o R

o O and{uf

D) The Manu Sanhita

25 31-B
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- . lLinekicd iew tends fo elevale
% N Reason(r): Judicial 'W&:‘ L.
84.  'Theory lost its critical dimension for it is me!udmrytothﬂ rank of Super 1eg :
described as the tool of the privileged i
Claes * ()  Both (a) and (1) are*true and (r) is
the correct explanation of (a).
This is true about which of the following dmi
roach? Both () and (r) are trué and 1n) 15
£2 e not the correct explanation of (a).
(A) Political Culture Approach
€ (a)istrue but (r) is false.
(B) Marxist Approach
' but (r) is true.
(©)  Behavioural Approach (O () i Telea bt ()
D) Structural-Functional Approach 87.  Given below are two statements, one
labelled as Assertion (a) and the other
85. Chester Barnard's Principle of labelled as Reason (r). Readtheslah.amems
Communication  highlights  that and choose the correct answer using the
communication should: code given below.
(A)  Be limited to official channels and : 3 . gt
formal procedures. Assertion (a): Areferendum is a vote in which
the electorate can express a view on a
(B) Focus on transmitting information fraristiar T GihE: ool
without considering understandmg pariicuiar issue of puplic poiicy.
(C) F::it:ta mut}:atunderst?m'iir.rgand Reason (r): Referendum is typically used
bt LU not to replace representative institutions but
(D)  Be solely the responsibility of the lo supplement them.
top management.

Given below are two statements, one ®  Both (a) and (1) are true and (r) is
labelled as Assertion (a) and the other the correct explanation of (a).
labelled as Reason (r). Read the statements
and choose the correct answer using the () Both (a) and (1) are true and (r) is
code given below. not the correct explanation of (a).
Assertion (a): Judicial review implies judicial © (a)i

s tru i
competence to review executive ® but (1) s false.
enforcement of legislative enactments. :

O (@)is faise but () i tue,
S
el R e
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https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

1 GET IT ON
Google Play

Totnl Number of Pages : 32
m g 1 "Muu-:tly 9, The concopt of Gross Power as alaborated
88 Which of the follo by Karl Deutsch implios:
matched?

()  Charlos Krauthammet: T Unipolar (A Actual Grant of banofits

Moment Rovis @  Punishment and force

(8)  Samuel P. Huntington Clash of

A (C) Potential ability of a nation to carry
Civilizations

out Its goals
©  Paul Kennody; The Tum From Cold

War to a New Erd (0)  Actuel use of a natlon's capability

©  Francis Eukuyama: T End of 92 Globalization is characterized by:

i I, Soclal relations are confined to

§9.  The corract chronological order in the nation states ol

formation of the European Union is:
I Rapid changes In information and

(A) -~ ECSC, EC, EEC, EV e

P .
(8  EC, ECSC, EEC, EU ll.  Interdependence in the ﬂn_gmof

{C} EEC, ECSC, EC, EUA pfoducl'bon and culture
© ECSC, EEC, EC,EV .  Global network of communications
' and financial institutions
90.  Which of the following is not a goal of the
United Nations Millennium Development Choosae the correct answer from the options -
Goals? given below: i
(B)  Reduce child mortality « ; ;*gg. 2%
®  (and(W) -
(€)  Achieve universal pglmary'
education »< (1) and (IV)
©  Eradicato 4 ( &
axlreme poverty. 'ﬂ/} ) and (V) | ;ﬂ:: %
— &
Paper-11 B0
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1 The political philosopher guards

93.  Which - (i -
L ONRTY ST ooy over the public realm and preserves
Machiavelli's views on State are correct ?

its Integrity.~

i Machiavelli accepls monarchy as a

ilosopher s
concession to the practical Il The political philosop

| i : ental in ushering in a
" necessities, * instrum

f . revolution.

I Machiavelli focuses on means and
The political philosopher offers

measures by which states could be il
fellow citizens the gift of self-

made strong.

knowledge.
M. Machiavelli's first preference goes
to Aristocracy as an ideal staté< IV.  The political philosopher views
politics as the ultimate human activity
V. Machiavelli recommended a that define$ human beings. ¢28
! Republic for vicious people. Choose the correct answer from the option

code given below:
Choose the comect answer from the code

given below: @ e
(B)  Only(N)
(&) ()and(IV) (C)  (and(IV)
: O)  (I)and(ill)
B 1) and (¥
20 b %. Who among the following is not associated
©  (hand(V) With the Ecological Approach to Public

Administration?

By (hand () B FW. Riggs

B
94.  Which of the following statement/s @ (B) Robert Dah

be regarded as Hannah Arendl's views _{9\ Herbert Simon
about a political philosopher's contribution
e e ©)  Roscoe Martin
to political life?
__-:__h-_:-_-_:_:_____"—ﬂw-__.::'______-_\_‘__‘_‘__
- Paper-II 28 R
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uard . (e poutthe 08
guards 96.  Which of the following statement’s 2 '
eserves Legal Theory of Rights is/a® incorrect?

I Rights are absoluté

er is
1 & Rights are created by the State
I Rights are inherent in man
offers
f self- V. Rights are artificial
Choose the correct answer from the code
Views given below:
activity
% (A) Only (1)
option

B  ()and(l)

GET IT ON
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The Ministry of Parliamentary Affairs
sponsors this Programme.

Under this programme the
delegations of Parliamentarians are
exchanged with other countries.

Under this programme a special
fund has been created to support k
African Nations. ;

Select the correct answer from the codes

JC  (and (1) given below:
@) (), (Myand (V)
Codes:
97.  Which of the following thinker considers
economic equality as a precondition to A
political liberty? B
(A)  Harold Laski B landll
(8)  Lord Acton
(C) land Il
(C)  Alex de Tocqueville
(D) Ralph Miiband (0)  Iandli
Paper-11 | 29 31-B



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Total Number of Pages : 32

3. In the two lists given below, List-| provides List-l
the name of a theory, while List-Il indicates g
their features. Match the two lists and choose (Type of Poliiical Party)
the correct answer from the code given
Betow p.  Catch-all party
List- Q. Revolutionary party
(Representation theory)
P Trustee Model R Mass party
Q Mandate Model
R Resemblance Model S Cadke px s
S. Delegate Mode! List-ll
List-ll
(Feature) (Basic Feature)
() Representatives as loyal to party ()  Politically active elite providing
and its poiicies ideological leadership
(ii) Representation of a cross section
of & larger sociely (i)  Stress on recruitment and
(i)  Representation of view of others opeates
(v)  Representatives are educated (i) Build up coaltions of support
elites Y
(v)  Overthrow existing constitutional
Codes structure:
P Q R S
-fﬁ{ ¢ Codes:
(i @ (iv)
(B) (Iv) () (ii) (W) P Q R S
C) (il (i) (iv) (i) (A) (il @ ™ G
) v @) @) @ B
fiv - i .
100.  In the two lists given below, List-| provides ! y ( ()
types of political party, while List-Il indicates & L) I (o o
their features. Match the two 'ists and choose ) !
the correct answer from the code given ™MW 6 @
below :
e e
Paper-Il 30
31-B
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